log AL luminance difference 2
95 threshold Lg=630cd/nf

T y experiment:
A 0,39 0,41 AD 26s G
Y 0,47 3 repeats

X

0,39
0,49
0,18 0,27
0,64
0,31




log AL luminance difference =

97 threshold L g=63cdin?

- % experiment:
A 0,39 0,41 AD 26s G
Y 0,47 3 repeats

X

0,39
0,49
0,18 0,27
0,64
0,31




log AL luminance difference =
97 threshold L g=6.3cdn?
s experiment:

0,41 AD 26s G

0,47 3 repeats

2
A0,
Y0,

X
0,39

1 0,49
0,18 0,27
0,64
0,31




log L/AL luminance contrast 0
sensitivity threshold Lg=630cd/?

T experiment:
AD 26s G
J 3 repeats




log L/AL luminance contrast | _
sensitivity threshold Lg=63cd/?

T experiment:
AD 26s G
1 3 repeats




log L/AL luminance contrast , _
sensitivity threshold Lge6.3cdin?

T experiment:
AD 26s G
1 3 repeats




L/AL luminance contrast -
senitvity throsnold  Lg=630cdi?

40T X Y experiment:

A 0,39 0,41 AD 26s G

304 Y 0,49 0,47 3 repeats

20--




L/AL luminance contrast =
sencidvity throsnold  Lg=63cd/f

40T X Y experiment;

A 0,39 0,41 AD 26s G

304 Y 0,49 0,47 3 repeas

20--




L/AL luminance contrast =
senitvity throshold  Lg=8:3cd/nf

40T X Y experlment

A 0,39 0,41 AD 26: =

304 Y 0,49 0,47 3 repe.its

20--




